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1. Who made the cake?
A. The man. B. The woman. C. The woman’s mother.

2. When will the man see the woman?

A. At 9 : 40. B. At 10 : 00. s C. At 10 : 20.
3. How is the man?

A. He is dying. B. He’s healthy. | C. His back hurts.
4. Where does the woman live now?

A. In Sydney. B. In Canberra. C. In Melbourne.

5. What is the man doing?
A. Giving advice. B. Asking for help. C. Making an invitation.
OE-H (X 15 /IMNF; BT 1.5 4,5 22.5 %)
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=TSR 6 BOAR R, MIZESE 6 A5 7 M,
6. When did they meet last time?
A. A lohg time ago.
B. A moment ago.
C. Not long ago.
7. What do we know about the man?
A. He’s getting .much heavier.
B. He’s started exercising again.
C. He’s going to join a health club.
WrsE 7 Bk R, BIZESE 8 A 10 M,
8. Why does the woman suggest eating at McDonald’s?
A. Because it’s cheap.

B. Because it’s special.

C. Because it’s convenient.
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9. How does the man llke McDonald s?
A. Not at all. B. Very much. ,C'- Just so-so.
10. How many hamburgers have McDonald’s so‘lﬂ‘?’ :
A. Over 100 billion. = B. Gver 11 ,000 i b 2 GEOyer 85000.
« WFE 8 BObbR, FIAS 11 B4 12 /8,
11. What is the girl worrying about?
A. Her work. B. Her exams. C. Her health.
12. What does the man adv1se the glrl to do"
A. To have enough sleep. '
B. To try to work harder.
C. To take more exams.
= WT55 9 Bebbkt, M55 13 245 14 0,
13. How does the ;nan know Linda? '
. A, ;I‘hrough a drinker.
B. Through the Internet.
C. Through a stranger.
14. What can we learn from the conversation?
A. The woman doesn’t like the coffee house.
B. The man works as a computer engineer.
C. The man pays to chat on the Internet.
= UF4 10 BbPR, 2 15 4555 17 1,
15. What is the man’s problem?
A. He is addicted to Coke.
B. He can 't stop taking drugs.
C. He has got a serious diseasé.

16. How many Cokes did the woman use to have?

A. 3. ‘ B. 4. L. A
17. What is the relationship between the two speakers?
A. Workmates. ' B. Good friends.

C. Doctor and patient.
= WTEE 11 Bobhkl, B4 18 245 20 131,
18. When do people usually start shopping before Christmas?
A. On December 1. B. On November 29.
C. Before Thanksgiving.
19. Where did the idea of “Buy Nothing Day” start?
A. In America. B. In Britain. C. In Canada
20. Where did people get food on “Buy Nothing Day” in Albuquerque?
A. From their neighborhood.

B. From restaurants nearby.

C. From shops everywhere.
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1. What can we learn from this conversation?

A. Helen will go on a picnic tomorrow.
B. Helen doesn’t enjoy going on a picnic.
C. Helen doesn’t think the weather will be good for a picnic.
2. What's the probable relationship between these two speakers?
A. Relatives. B. Roommates. C. Neighbors.
3. Where is the woman now?
A. In the library. B. In the classroom. C. In the hospital.
4. What happened to the man this morning?
A. He got angry.
B. He overslept.
C. He forgot to set the clock.
5. How long does it take Mr. Smith to drive home during rush hours?
A. About 5 minutes. B. About 20 minutes. C. About 15 minutes.
OEZW(HI5/ME;B/NME LS55, H P 22.54)
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6. What are they talking about?
A. A weekend activity. B. A teacher’s suggestion.
C. A trip abroad.
7. Where did they decide to go?
A. To the park. B. To the lake. C. To the mountains.
= WTEE 7 Bk kL, M550 8 258 9 R,
8. What cities did Susan visit in Japan?
A. Tokyo and Kyoto.
B. As many cities as she could.
C. Tokyo,Kyoto and some other cities in Japan.
9. What is very expensive in Tokyo according to Susan?
A. Hotels. . B. Foods. C. Pictures.
= TS 8 Bead bk, MIZ 4 10 =55 11 .
10. Why did Bob call Nancy?
A. To ask if she’s got the tickets.

B. To invite her out to a concert.

C. To offer his help with her new flat.
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What will Nancy be doing tomorrow night?

A. Watching a tennis match.

B. Cleaning up the new flat.

C. Going to the theatre with Margaret.

= W55 9 Bedhkl, mIZ&SE 12 25 14 M,

What does Professor White come here for?

A. To give a lecture.

B. To go sightseeing.

C. To visit the company.

Which of the following statements is NOT true?

A. Professor White felt a little bit tired on her trip.
B. The man works in the Public Relation Department.
C. The lecture will last two hours.

What will Professor White do later that day?

A. Give a lecture. _

B. Have a dinner with the staff of the company.

C. Enjoy a lecture with other staff of the company.

= WP 5 10 BeAp Rl , M58 15 25 17 |,

What are they talking about?

A. Having a larger apartment.

C. Visiting her mother.

Why does the wife need an extra bedroom?

A. Her husband got a rise.

B. Her mother will pay a visit to them.

C. The old apartment has only one bedroom.

How long have they lived in the apartment?

A. For more than ten years.

B. They didn’t mention it.

C. Since they got married.

« TS 11 B RL, M5 18 5 20 M,

What was the speaker doing at the fast-food restaurant?
A. Waiting on tables. B. Having dinner.
What did the manager of the restaurant say?
A. Everyone must get out of the building.
B. Everyone had to stay where they were.

C. There was no more food.

What did the police find out?

A. There was a bomb.

B. There was no danger.

C. There was an alarm clock.

ok ok ok ok kok ok ok ok ok ok ok Kk ok ok Kk

B. Getting married.

C. Selling food.
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1. What are they talking about?

A. Pet. B. Sport. C. Habit.
2. What will the man do this weekend? '

A. Work in his garden.

B. Go to the picnic.

C. Go to the company.

3. How does the man feel?

A. Angry. B. Excited. C. Worried.
4. When will the book be available in bookstores?
A. September. B. October. C. November.

5. What is the woman doing?
A. Giving an order.
B. Asking for information.
C. Making a request.
OB F(H 15 ME;BIE 1.5 4,9 22.5 %)
Wi 6 Bex iR . 45 B SO S A LA /NS, MR BT A B.C =485 b 36 B 4 v
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6. Why isn’t the man interested in the ring?
A. It is expensive, ) B. It’s not beautiful.
C. It’s not necessary.
7. Where does the conversation take place probably?
A.In a market. B. In a hotel.
C. In a bookstore. ‘
8. How much money will the man give for the records?
A. $ 30. B. $ 28. C. $ 25.
«TEE 7 B, S 9 B4 10 3,
9. Why does the man want to see the doctor?
A. He wants to ice his injured foot.
B. He asks to help his foot out of the can.

C. He wants to ask information about his illness.

e e L R R e e




10. What does the woman suggesf at the end of the conversation?
A. The man should take it easy for a few days.
B. The man ought to take it easy for a few days. = .= = 7
C. The man ﬁéeds t(‘): co:ne ‘t.o the; dLoctor 1"iéht away.h 4
< U 8 BEAHRY, A 11 B4 13 L

11. Why does the man ask the woman for her notes?

w2

.
A. His notes are poor.

B, He has:mis‘s',ed some classes. - B e £ A& A i ) =
C. He has trouble seein.g clearly. | N
12. Where does the man work? ,

A. At a library. sl B. At a copy shop.
C. At a coffee shop. |
13. What’s the relationship of the speakers?
A. Workmates. B. Classmates. C. Housemates.
o WFES 9 Bk, [I55 14 255 15 .,
14. What's the possible relationship between the speakers?
A. Clerk and customer.
B. Advertiser and audience.
C. Saleswoman and buyer. _
15. What is the man most concerned about when choosing a car?
A. The equipment. B. The space. C. The price.
« WFE 10 BrbbRL, B2 16 258 17 AL,
16. What’s the woman’s problem?
A. Her candy bar got stuck in the machine. > 3,1\ 8
B. The machine didn’t give all her money back.
C. She pressed the wrong button.
17. What did the cashier at the snack bar advise the woman to do?
A. Call the policeman.
B. Rock the machine back and forth.
C. Dial the phone number on the machine.
o WTES 11 BebbR, IS 18 E5 20
18. Who is speaking? » , ,
A. The programmer. " B. The singer. C. The radio host.
19. When are tickets available to the winning people?
A. Before Saturday night.
B. Before Thursday morning.
C. Before Wednesday morning.

20. Through which phone number can people find the speaker? 4
A. 683-3019. B. 693-3019. C. 693-3091.
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1. What are the two speakers looking at?

RIURS 265t 5 B0l 6 V50 B 0 B o 3 3

A. A shiny coin. B. A beautiful girl.
Who is the woman?

A. A ticket collector.

C. A street cleaner.

How is the man going to Pittsburgh?

A. By taxi. B. By train.
What do you know about Timmy?

A. He is breaking into a room.

B. He is doing some running.

C. He is running a temperature.

What is the man doing?

A. Finishing his homework.

B. Doing physical exercise.

C. Smoking on the upper floor.

OEZF (IS NEGIE 155, %5 22.5 %)

10 B Bf 1 S ] 285 7 S /N R B 5 F — /N . 4 B 9 A e —

C. A pretty car.

B. An exhibition visitor.

C. By subway.

WF R 6 BoXS i sk 19 . A B i S 1S A LA /NG, M R ) A BLC A BT o i ) 5 4
T IARTE A (KA BLOLE . W45 B 37 S0 1 BT, 4008 A B e B2 45 A /N B /NG 5 BB A O 52U S %/

= WS 6 Bebbkt, I 6 245 7 .

. How many cars will be sold on this Labor Day Clear out?

A. About 150, B. About 100.

. Which is NOT offered by the advertisement?

A. Lowest price.

C. Widest choice.

=TS 7 BMA R IS 8 A 9 M,
Where is the man?

A. In a TV shop.

C. In a hotel room.

What is the man’s problem?

A. He doesn’t know how to work the TV.

B. He can’t find a card box for the cards.

C. He doesn’t know how to follow the instructions.

C. About 200,

B. Friendliest service.

B. In a movie theatre.
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= T4 8 Bebbbt, IS 10 25 11 &,
10. What is the relationship between the two speakers?
A. Professor and student. : ‘ ] B. Schoolmates.
C. Father and daughter.
11. What will they do before going to Professor Berry's class?
A. Go to a coffee bar. B. D,o. some reading.
C. Spend ten minutes in a library.
A 9 Bebbbl, IS 12 25 14 .
12. How many children are there in Frank’s family?
A. 13. B. 14.
C. 15.
13. What is Frank’s mother?
A. A store keeper. B. A government worker.
C. A company engineer. |
14. What are the two speakers doing now?
A. Filling in a registration form.
B. Getting to know each other.
C. Buying plane tickets to Mexico.
= U755 10 Bebkt, &5 15 25 17 &,
15. What are they going to do tonight?
A. Try a new restaurant.
B. Organize a live band.
C. Fix a date for a party.
16. How many people will be there at the gathering tonight?
A. 4. B. 5. G.: 6.
17. What will the v;;')man do before she meets her friends at 9 ¢ 00 p. m. ?
A. Visit a new place. B. Change her clothes.
C. Move to a new apartment.
= TES 11 Bekbbt, IS 18 25 20 &L
18. What is the relationship between the two speakers?
A. Policeman and victim. B. Teacher and student.
C. Doctor and patient.
19. Why did the first girl ask the woman the way to the nearest MTR?
A. To find her way to the MTR station.
B. To hide the truth from the woman.
C. To help the woman realize the truth.

20. What are the two girls?

A. Passers-by. B. Policewomen. C. Thieves.
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1. How is David going to the park?

A. On foot. B. By bus. C. By bike.
2. What will the man do while the woman is away?
A. Clean the house. B. Buy some plants, C. Water the plants.
3. What is the man’s favorite free-time activity?
A. Going fishing. B. Playing chess.
C. Listening to music.
4. How long will the man wait at the airport?
A. Forty-five minutes. B. Fifteen minutes.
C. Half an hour.
5. What is the weather like?
A. Sunny but cold. B. Windy but warm.
C. Cloudy and freezing.
OETH (15 /NE;H/INE 1.5 9,% 9 22.5 %)
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= UT5E 6 BtbbRl, BIZ&%E 6 =58 7 .
6. Why does Mary have to work late?
A. To watch a game. B. To write a report.
C. To visit her friend.
7. When will Mary probably arrive?
A. 7:00 pm~8 : 00 pm. B. 8:00 pm~9:00pm. C. 900 pm~10: 00 pm.

« UT5E 7 BEORE, BIZESE 8 58 10 /3.
8. What is Carol like?
A. She’s sociable. B. She’s serious. C. She’s shy.

9. Which is likely to be Bob?




10. How does the woman know Bob?

A. She is taking tennis lessons from him.
B. They met at a party two months ago. R Y
C. They learn tennis in the same class.
= P55 8 Behh ke, M58 11 =5 12 3.
11. What is the woman doing?
A. Talking to her boss. ‘ g
- B. Waiting for a phone call. i . - ‘ v
C. Exercising in the garden.
12. What’s the relationship between the two speakers? f1e
A. Neighbors. ‘ B. Good friends.
C. Husband and wife.
= WP5H 9 BeaA bt M558 13 245 14 .
13. Where did the man get his knowledge about computers?
A. From a video game.
B. From a magazine.
C. From an article.
14. What are the two speakers talking about?
A. Different uses of computers.
B. Software for accounting systems.
C. Booking tickets through computers.
= WP 10 Bobbkt, 12555 15 255 17 &
15. What does the girl think of the movie?
~A. Disappointing. B. Amazing. 3 - C. Boring.
16. What kind of movie are they talking about?
A. Comedy. B. Action movie.
C. Science fiction.
17. Where does this conversation take place?
A. At a movie theater.
B. At the speakers’ home.
C. In the neighbor’s house.
« WP S 11 BobbRE, MISE 18 25 20 @,
18. What service is being advertised?
A. Carpet cleaning. B. Food service. C. House repair.
19. What is the cost of the service if customers call now?
A. $4.49. B. $25.46. C. $29.95.

20. Who is most likely to éalL ,ggr the service?

A. Master Cleaners. B. Repair workers. C. Housewives.
. 3
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1. What does the man want to drink?

A. Coffee. B. Coca Cola. C. Water.
2. What can we learn from the conversation?

A. The man is late for his train.

B. The woman doesn’t understand what the man has said.

C. The train is late.
3. What did the woman decide to buy?

A. A gold necklace. B. A silver necklace.

C. A silver necklace and a dress.
4. Where did the man get his maps?

A. In a little town. B. From the librarians. C. From the Internet.
5. How will the medicine affect the woman?

A. Tt will make her nervous.

B. It will make her sleepy.

C. It will make her hard to sleep.

OEZT (15 /NG BIE 1.5 9,9 22.5 %)

Wr R 6 BOW IS AR B R SO (S A LA /N, R TR 9 A VB LC = AN b R A

T I b A XA (0 A L o7 B o W A B X S s AT, MRKe A B D] B 3 45N N, A /NEE 5 BB SRR &/
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= TS5 6 BIAPRL, MIZZHE 6 25 7 4,

6. When will the bus come?

A. In the afternoon. B. At noon. C. After lunch.

7. Why didn’t the man bring food?
A. He wasn’t told to. B. He wasn’t hungry. C. He would eat at the zoo.
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8. What does the man think is hard to learn?

A. Music. B. Grammar. C. Maths.
9. Why is the man shy of speaking? ' '

A. He is afraid of the woman.

B. He’'ll make mistakes.

C. He knows no languages.
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10. What does the man want the woman to do?

- A. To meet his sister.

B. To drive to Canada.

C. To have a trip to Seattle.
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11. When will the woman return from Seattle?

A. On Friday night.

B. On Saturday night.

C. On Sunday morning.
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12. What are Molly and Ben talking about?

A. The holidays.

B. Molly’s mother’s operation.

C. The doctors.
13. What does Molly’s mother need?

A. A lot of rest. B. A holiday.
14. Why does Molly ask for a few days off from work?

A. She wants to have a few days’ rest.

B. She has something important to do.

C. She has to take care of her mother.
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15. What's the woman’s problem?

A. She can’t find a job at a hotel.

B. The pay of her job is very low.

C. She has found a job but doesn’t like it.
16. What’s the man’s advice?

A. She should find a more interesting job.

B. He takes the job and the woman looks for another one.

C. The woman should take it and then move to a better one.

17. Why doesn’t the woman want to have the job?
A. She thinks she can find a better one.
B. She has got a better one. '
C. The pay is very low.
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18. What will be shown on October 10th?
A. A science fiction cartoon.
B. A scientific program.
C. A movie about children.
19. Whaf is the main purpose of the show?
A. To show the latest use of computers.
B. To raise money for public television programs.
C. To explain the working of the brain.
20. Why does the woman recommend watching the program?
A. Because it was made in New York City.

B. Because it will be shown after working hours.

C. Because it will be helpful with the course work.

C. A lot of water.



